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Aktualnie dalsze prace przy wykorzystaniu opisanego alg
�����	�3	��
������
����

��	
���
������	�820�	�����������	>47@	��	�
�
�3	���	���	����
�
�	�����	�
������
lnych
ele����
�	
0����	���	2���	�������

/
��������

,-. Q	��	/���	���	
��	����
	�
	��	�����	����	��	�����	��� ��	��������	 ����	��	
��	�
���
��	R
��

�������	��S��	�������

��� ��� 	�	T�	���	
��	���������	��������	������������������	��
��	������	!""��##$$$��
�� 
� 	�%�# &	�'#

�'��


'�#�	� �#�	�'��#�	� �U��V(���U"���)%

��� �*����+��	��������������������������	��� �����	���� �����!��"#$%

��� �*����S�S	#���������������������������������	��� �����	���� �����!��"#&%

��� � 
!	,�	-
�	���	
��	'�	��������	�����	����	��	
��	�
	* .
	�	/�
&'�� 
.�	R
��	���	,
�	��	����

�0� / ��	���	(��)������	����"#��������*����������+���������#
��	
��	���	��������	1/	W	2
�	�

"
� '�	Q� �"
��	���+�	!""��##$$$�!���!��&
�#"'&!�'�
�"�#�+#1/W��+������)%

�+� X '"	1�	���	
��	�������������������������+��������	�'������	���	�	/�
&�	+"!	- . "	�	��	.'	�
��

��" 
.�	�'&!
 Y�'�		
)	(��� &	" 

��	*3)
'3�	����


